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7. State*

8. 1. Sturges formula for determining the number of classes in a frequency
distribution with total frequency N is given by

Mark only one oval.

k =1+ 3.332logoN k =1+ 3323log;oN
Option 1 Option 2
k=1+3222log,oN k=1+3322log;oN
Option 3 Option 4
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9. 2.Frequency density is used in the construction of 1 point
Mark only one oval.

Bar diagram
Frequency polygon
Histogram

Ogive curves

10. 3. The main drawback of arithmetic mean is 1 point
Mark only one oval.

It is affected by small values
It is not useful for further mathematical analysis
It is very much affected by extreme values

It is not based on all observations

11. 4. If the mean of first set of n observations is 6. The mean of second set of 1 point
3n observations is m and the combined mean of two sets is 21, then the
value of mis

Mark only one oval.

26
25
27
36
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12. 5. Consider the following statements 1 point

l. Standard deviation is invariant under the change of origin
Il. Inter quartile range is invariant under the change of scale
Ill. Quartile deviation is invariant under the change of origin.
Which of the above statement(s) is/are correct?

Mark only one oval.

Only I and llI
Only Il and 1l
Only land Il

All the above

13. 6. Geometric mean of five observations 2, 5, 8, 0, 12 is 1 point
Mark only one oval.

3.9487
5.5663
0

9.8648

14. 7. A car travels with a speed of 40 kilometers per hour for the first half of the 1 point
way. Then the car travels with a speed of 60 kilometers per hour for the
second halff of the way. What is the average speed in Kilometers per hour?

Mark only one oval.

58
48
68
56
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15. 8. To compare the variability in two series, we use 1 point
Mark only one oval.

Standard deviation
Mean deviation
coefficient of variation

Scatter diagram

16. 9. The mean of 100 observations is 50. What will be the mean if each 1 point
observation is added by 5 and multiplied by 3?

Mark only one oval.

160
165
120
170

17. 10. What is the suitable average to be used if the data is qualitative? 1 point
Mark only one oval.

Mean
Mode
Median

Harmonic mean
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18. 11. The first person to obtain a quantitative measure of uncertainty is? 1 point
Mark only one oval.

James Bernoulli
Jacob Bernoulli
Pascal

James Boole

19. 12. Ais anevent. If P(A)=1, then A is called 1 point
Mark only one oval.

Null event
Compound event
Certain/sure event

Independent event

20. 13.If an unbiased coin is tossed three times. What is the total number of 1 point
sample points in the sample space?

Mark only one oval.

2
4
8
16
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21.  14.Out of three events A, B and C in a random experiment, if one event 1 point
occurs the remaining two events do not occur. In this case A, B and C are
called:

Mark only one oval.

Pairwise independent events
mutually independent events
Pairwise disjoint events

Mutually disjoint events

22. 15. For comparison of magnitudes of three variables, we use 1 point
Mark only one oval.

Simple bar diagram
Frequency curves
Histogram

Multiple bar diagram

23. 16. The following is used in collection of population census data. 1 point
Mark only one oval.

Questionnaire
Schedules
Data from journals

None of the above
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24. 17. The probability that results in the form of a revised information about 1 point
prior probability is called as

Mark only one oval.

Conditional probability
Posterior probability
Classical probability

Joint probability

25. 18. In which sampling method, each member of the population has an equal 1 point
chance of being selected?

Mark only one oval.

Non-random sampling method
Quota sampling method
Judgement sampling method

Simple random sampling method
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26. 19. The possible number of samples of size 'n' that can be drawn from a 1 point
population of size 'N' (sampling without replacement ) is :

Mark only one oval.

Nﬂ'.

2=

Option 1 Option 2

Option 3 Option 4

27. 20.The complete list of sampling units which cover the population is known 1 point
as

Mark only one oval.

Sampling fraction
Census survey
Sample survey

Sampling frame
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28. 21.If mean <median or mean < mode, then the distribution is 1 point

Mark only one oval.

Positively skewed
Negatively skewed
Positively skewed and Negatively skewed

None of the above

29. 22.The correlation between intelligence and demand is 1 point
Mark only one oval.

Negative
Positive
Non-sense

Either positive or negative

30. 23.If the correlation coefficient r is more than 6 times the probable error, 1 point
then correlation is

Mark only one oval.

Significant
Positive
Negative

Non-significant
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31. 24.The line of best fit drawn using principle of least squares gives: 1 point

Mark only one oval.

Sum of deviations of actual values of Y from their estimated values is maximum
Sum of deviations of actual values of Y from their estimated values is minimum

Sum of squares of deviations of actual values of Y from their estimated values is
maximum

None of the above

32. 25.In Spearman's rank correrlation, the sum of difference of ranks between 1 point
the two rank values is:

Mark only one oval.

0
1
No fixed value

Cannot be found

33. 26. When the correlation coefficient r=0 then lines of regression are 1 point
Mark only one oval.

Perpendicular to each other
Coinciding
Parallel to each other

Intersecting
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34. 27. Which of the following properties of regression coefficients is not

correct?

Mark only one oval.

Correlation coefficient is
geometric mean of regression
coefficients.

1
|E (byx + bxy)| > |r|

With usual notations

If one regression coefficient is less
than zero then the other is greater than
zero.

Angle between two regression
lines is given by
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35. 28.The equation Y = 58+3.2X relate to sales(Y) to advertisement (X) of a 1 point
company. According to this equation, if advertisement expenditure is Rs. 15
lakhs, the likely sales of the company would be:

Mark only one oval.

Rs. 20 Lakhs
Rs. 16 Lakhs
Rs. 106 Lakhs
Rs. 120 Lakhs

36. 29. The limits of ranks correlation coefficient are 1 point
Mark only one oval.

[0, 1]
[-1,0]
[-1,1]
(1.1

37. 30.The word 'STATISTICS' is derived from the Italian word 1 point
Mark only one oval.

Status
Statista
Statute

Static
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38. 31.In time series ,deseasonlisation is needed for the study of 1 point
Mark only one oval.

Cyclic component
Trend component
Random component

None of the above

39. 32. Which average is used for smoothening a time series 1 point
Mark only one oval.

pooled average
Moving Average
Weighted Average

Simple Average

40. 33. Most widely used model in a time series is 1 point
Mark only one oval.

Additive model
multiplicative model
linear model

mixed model
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41.  34.Which of the following method is known as Pearson Method 1 point
Mark only one oval.

Moving Average method
Ratio to Trend Method
Method of semi averages

Link Relative method

42. 35. By the method of semi averages we find 1 point
Mark only one oval.

Secular trend
Seasonal Fluctuations
Cyclic Variations

Random Fluctuation

43. 36. Time series is the Statistical data arranged in 1 point
Mark only one oval.

Geographical location wise
Gender wise
Chronological order

Hierarchical order
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44. 37.Real Income is also known as 1 point
Mark only one oval.

Deflated Income
Increased Income
Decreased Income

Price Index

45. 38.Index numbers are looked by econometricians as 1 point
Mark only one oval.

Economic Thermometres
Economic Chardiagrams
Economic Barometres

Economic Speedometres

46. 39.The Index of Base period is 1 point

Mark only one oval.

100
1000
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47. 40. Fisher's Ideal Index formula does NOT satisfy 1 point
Mark only one oval.

Unit test
Time Reversal test
Factor-Reversal test

Circular test

48. 41.In which price Index formula, fixed weights are used? 1 point
Mark only one oval.

Walsch's Formula
Kelly's Formula
Marshall-Edgeworth Formula

Drobish-Bowley Formula

49, 42 .. Index number Satisfies Circular test 1 point
Mark only one oval.

Laspeyre's
Paasche's
Fisher's

Kelly's
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50. 43. The most suitable average to determine the cost of living index for family 1 point
budget method is

Mark only one oval.

Arithmetic mean
Geometric mean
Weighted Arithmetic mean

Harmonic mean

51. 44.laspeyre's Quantity index formula with usual notations is 1 point

Mark only one oval.

dijPoj % 100 EQUP{U % 100
X qojPoj 2 qijDij
Option 1 Option 2
Y. qojpij 2 ojPij
Option 3 Option 4
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52. 45. A bag contains 6 white balls, 3 black balls and 1 red ball which are 1 point
identical in shape . One ball is drawn at random , what is the probability that it
is white?

Mark only one oval.

1/2
3/5
1/3
2/5

53. 46. The empirical relation between mean deviation(md) and standard 1 point
deviation(sd) is

Mark only one oval.

5md=4sd
4md=>5sd
6md=5sd
3md=2sd

54. 47. A measure of dispersion which does not depend on the unit of 1 point
measurement of data

Mark only one oval.

Mean Deviation
Standard Deviation
Coefficient of Variation

Range
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55. 48. The kurtosis of normal distribution is 1 point

Mark only one oval.

f> <3 f> >3

Option 1 Option 2

Option 3 Option 4
56. 49. Sum of the deviations of a set of values from their arithmetic mean is 1 point
equal to

Mark only one oval.

minimum
maximum
Zero

one
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57. 50.What type of Data is the temperature measured on Kelvin Scale 1 point
Mark only one oval.

Nominal
Ratio
Ordinal

Interval

58. 51.Non Probability Sampling is also known as 1 point
Mark only one oval.

Stratified Random Sampling
Systematic Random Sampling
Cluster Sampling

Purposive Sampling

https://docs.google.com/forms/d/1Arkb9fsz7VHJPOOVDeT TcfA8pktndCpuYQpvoOlv_Oo/edit 21/27



06/07/2021 Statistics Quiz (08/06/2021)

59. 52.In a particular university, the number of research scholars in different 1 point
subjects are given below. If we represent the below information using a pie
chart, the angle of the slice representing the research scholars of statistics

will be
Subject Number of research scholars
English 15
Hindi 10
Sanskrit 5
Mathematics 25
Physics 15
Chemistry 25
Statistics 20
History 5

Mark only one oval.

60 degrees
65 degrees
50 degrees

55 degrees
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60. 53. The weighted arithmetic mean of first n natural numbers 1, 2, 3, .......... ,Nis 1 point

Mark only one oval.

n+1 2Zn+1
2 3
Option 1 Option 2
n?—1 n
12 2
Option 3 Option 4
61. 54. The data which is published by World Health Organization related to 1 point

COVID-19 of different countries

Mark only one oval.

Primary data
secondary data
both primary data and secondary data

None of the above
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62. 55.In Sperman's ranks correlation if the ranks are tied then the correction 1 point
factor is given by

Mark only one oval.

m(m? — 1) m? —1
6 12
Option 1 Option 2
m(m?* — 1) m? + 1
12 12
Option 3 Option 4
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63. 56.If 'r'is correlation coefficient between x and y. The probable error of 'r'is 1 point

given by

Mark only one oval.

[
0.6745 X —
VN

Option 1

1 =7
0.6745 X ——

N-1

Option 3

?,.2
0.3355 Xx ———
N -1
Option 2
0.6745 x L=
' VN
Option 4

64. 57.In which of the following cases the variation is completely unpredictable 1 point

and changes occur in a very random manner ?

Mark only one oval.

Secular trend
Cyclical fluctuations
Seasonal variations

Irregular variations
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65. 58.Let Pi denotes the ith percentile of a distribution, i=1, 2, ....., 99. Further
let Dj denotes the jth Decile of that distribution, j=1, 2, ........... , 9. Which of the
following is not correct?

Mark only one oval.

P7o — Py = D7 — Dy Pgg — Pyo = Dg — Dy
Option 1 Option 2

Pcy = Dc Pgo — P9 = Dg — D;
Option 3 Option 4

66. 59. The standard deviation of a set of values is 2.5 . Now 64 is added to the
given set of values. The standard deviation of the new set of values is

Mark only one oval.

2.5
66.5
25
4.5
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67. 60.In a graphical representation median is located by 1 point
Mark only one oval.

Less than Ogive
More than Ogive
Both Less than Ogive and More than Ogive

None of the above
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